PATFIZIOLOGY

1. Select the option that correctly reflects the sequence of disease periods:

A. latent period, prodromal period, peak of the disease, disease outcome

B. peak of the disease, latent period, prodromal period, disease outcome

C. incubation period, disease outcome, peak of the disease, prodromal period, disease outcome

D. prodromal period, latent period, disease outcome, peak of the disease

E. latent period, peak of the disease, disease outcome, prodromal period

2. Determine the option that reflects the correct sequence of cause-and-effect relationships in the pathogenesis of acute blood loss:

A. decrease in BCC, hypoxemia, drop in blood pressure hypoxia

B. hypoxia drop in blood pressure (BP decrease in circulating blood volume (BCC) hypoxemia

C. drop in blood pressure decrease in BCC hypoxemia hypoxia

D. drop in blood pressure, hypoxemia hypoxia decrease BCC

D. hypoxemia decrease in BCC, hypoxia, drop in blood pressure

3. What is the condition:

A. a factor that promotes or hinders the development of a disease but does not

cause the disease itself

B. a factor in the external or internal environment that causes a disease and determines its

specificity

C. a factor in the external or internal environment that gives the disease specific features

D. a factor in the internal environment that causes a disease and determines its specificity

D. does not affect the course of the disease

4. What structure do biomembranes have:

A. a bimolecular lipid layer with protein components

B. a lipid-protein layer

C. a monomolecular layer

D. a bimolecular protein layer

D. a polysaccharide layer

5. Select the intracellular processes underlying the change in pH in a cell when it is damaged (acidosis)

A. increased anaerobic glycolysis

B. increased anaerobic glycolysis

B. increased liposynthesis

D. increased protein synthesis

D. increased glucose resynthesis

6. Ionic processes and polarization changes characteristic of cell damage:

A. passive entry of Na+ and Cl- into the cell

B. exit of Na+ and Cl- from the cell

C. active entry of K+ into the cell

D. passive entry of K+ into the cell

D. hypopolarization of the cell membrane

7. Changes characteristic of antioxidant deficiency in the cell:

A. increased damaging effect of free radicals

B. increased energy production

C. decreased energy production

D. decreased damaging effect of free radicals

D. decreased peroxide formation

9. Which of the following belong to protective and adaptive reactions or changes:

A. activation of glycolysis and polyenzyme systems

B. increased permeability of cell membranes

C. formation of damage mediators

Decreased synthetic processes

D. increased sorption properties of proteins.

D. Nothing changes

10. . A sign of damage is:

A. increased permeability of cell membranes

B. activation of phagocytosis

C. activation of fibrin formation

D. activation of lytic enzymes

D. activation of the activity of intracellular structures.

11. Which of these factors cause arterial hyperemia:

A. metabolites - lactic acid, carbonic acid

B. pain

C. adrenaline vasopressin

D. hypotension

D. low temperature

12. Changes in microcirculation in arterial hyperemia are characterized by:

A. an increase in the number of functioning capillaries

B. pendulum-like movement of blood

C. jerky movement of blood

D. a decrease in volumetric blood flow

D. a slowdown in the velocity of blood flow

13. Initial changes in microcirculation in venous hyperemia are characterized by:

A. a slowdown in the velocity of blood flow

B. cessation of blood movement

C. acceleration of blood flow

D. an increase in the linear velocity of blood flow

D. narrowing of the veins

14. Possible consequences of venous hyperemia:

A. proliferation of connective tissue

B. a decrease in the permeability of cell membranes

C. increased tissue metabolism

D. increased temperature

D. accumulation of ATP

15. Option reflecting the most powerful mutagens of biological origin:

A. rubella virus hepatitis A virus hepatitis virus

B. hemolytic streptococcus, staphylococcus rubella virus

C. golden staphylococcus pale spirochete, influenza virus

D. corynebacterium, pale treponema Koch's bacillus

D. intestinal coli hemolytic streptococcus, Bitner virus

16. Factors causing redness in arterial hyperemia:

A. increase in the number of functioning capillaries

B. decrease in blood outflow

C. decrease in oxyhemoglobin in the blood of capillary vessels

D. decrease in metabolism

D. decrease in skin temperature

17. What is the basis of true capillary stasis lies:

A. aggregation of erythrocytes

B. opening and strengthening of collaterals

C. proliferation of connective tissue

D. increase in blood flow velocity

D. compression or blockage of an artery

18. Factors that contribute to thrombus formation:

A. deficiency of anticoagulants in the blood

B. acceleration of blood flow

C. decrease in viscosity

D. deficiency of procoagulants in the blood

D. decrease in hemoglobin

19. Air embolism most often occurs with damage (injuries) to which vessels:

A. jugular vein

B. carotid artery

C. femoral vein

D. aorta

D. femoral artery

20. Which organ suffers more often from fat embolism:

A. lungs

B. heart

C. liver

D. spleen

D. brain

21. The concept of microcirculation:

A. blood flow in arterioles, capillaries, veins and lymphatic microvessels

B. blood flow in large vessels

C. blood circulation in veins

D. lymph flow in microvessels

D. lymph flow in large vessels

22. With thrombosis of the inferior vena cava, where can retrograde embolism be expected:

A. in the renal veins

B. in the coronary vessels

C. in the pulmonary veins

D. in veins of the spleen

D. in the vessels of the brain

23. In the development of thrombosis, what is the leading:

A. damage to the vascular wall

B. slowing down of blood flow

C. changes in the blood coagulation system

24. What is resistance:

A. it is a manifestation of the body's resistance to the action of pathogenic factors

B. it is the body's ability not to respond to the action of pathogenic factors

C. it is a state of unresponsiveness of the body

D. it is an increased reaction of the body to the action of various factors

D. decreased tolerance of the body

25. Specific reactivity is the ability of the body to respond to the action of factors of what nature:

A. bearing signs of genetic foreignness

B. any

C. physical

D. inorganic-chemical

D. genetically identical

26. The role of thymosin and thymopoietin:

A. promote proliferation and differentiation of T-lymphocytes

B. inhibit proliferation B-lymphocytes

B. inhibit the activity of phagocytes

D. activate null lymphocytes

D. suppress the immune response

27. What cells belong to the subpopulation of T-lymphocytes before antigenic differentiation:

A. antigen-recognizing T-lymphocytes and precursors of T-effectors

B. lymphokine-producing lymphocytes

B. antigen-binding T-lymphocytes

D. T-killers

D. "Memory" T-cells

28. To which group of lymphocytes do plasma cells belong:

A. B-lymphocytes

B. T-lymphocytes

B. O-lymphocytes

D. none of them

D. to the A-group of cells

29. The immune response is provided by the cooperation of which cells:

A. T-B-lymphocytes with a cell of the A-group (macrophages)

B. T- and B-lymphocytes

B. T-B- and O-lymphocytes

D. T-B-lymphocytes and eosinophils

E. microphage cells and T-lymphocytes

30. Name a more complete and correct concept of immunity:

A. resistance to the action of genetically foreign factors

B. immunity of the body to infectious diseases

C. tolerance of the body to antigenic effects

D. property of resistance of the body

E. absence of immunological "memory

31. Which concept of allergy is more correct:

A. increased and qualitatively changed sensitivity to repeated introduction of antigens

B. increased sensitivity of the body to the primary effect of antigens

C. qualitatively changed sensitivity of the body to allergens

D. absence of any reaction of the body

E. strengthening of the function of barrier and structural systems

32. For immediate hypersensitivity (GNT) what local changes are characteristic of the skin test:

A. wheal hyperemia with infiltration of neutrophils and eosinophils

B. the appearance of a small rash of erythema and dense infiltrate with many lymphocytes

C. the possibility of passive transfer of GNT by lymphocytes

D. a decrease in immunoglobulins

D. tissue necrosis

33. What is anaphylaxis:

A. increased and qualitatively changed sensitivity of the body to repeated parenteral administration of a foreign protein

B. increased sensitivity of the body to a foreign protein

C. qualitatively changed sensitivity of the body to a foreign protein

D. increased sensitivity to the primary entry of protein

D. this is a reaction that occurs after tissue transplantation

34. Which immunoglobulins are mainly responsible for allergic reactions:

A. IgE

B. Ig A

B. Ig J

G. Ig M

D. Ig D

35. Which cells cause immediate hypersensitivity (IHS):

A. plasma cells

B. T-lymphocytes

C. B-lymphocytes

D. O-lymphocytes

D. monocytes

36. What is characteristic of the immune stage of allergy:

A. increased production of antibodies of all classes

B. antigen does not bind to antibodies

C. new specific subpopulations of T-lymphocytes are formed and increase

D. increased degranulation of basophilic and other cells with an increase in helpers

D. increased formation of T-lymphocytes

37. What changes occur in the pathobiochemical stage of IHS:

A. the AG+AT complex activates the complement system of the Hageman factor and proteolytic enzymes of the blood and tissue

B. increased production of lymphocytes

C. macrophages present antigen to T- and B-lymphocytes

D. sensitization of the body occurs

D. formation of antibodies occurs

38. What does T-suppressor deficiency lead to:

A. autoallergy

B. anaphylaxis

C. serum sickness

D. tolerance

D. AIDS

40. Factors that promote the approach of phagocytes to the object:

A. products of immunological reactions (subcomponents of complement, lymphokines)

B. prostaglandins

C. adrenaline

D. acetylcholine

D.lysozyme

41. What is the role of opsonins:

A. They mediate the interaction of a microbe with a phagocyte

B. They prevent the interaction of a microbe with a phagocyte

C. They are a factor that promotes the production of antibodies

D. They are an IgE antagonist

D. They inhibit the activity of the parasympathetic nervous system

42. The opsonophagocytic reaction in the immune organism:

A. It increases

B. It slows down

C. It does not change

D. It weakens

D. It stops

43. What type of exposure can be used to detect active sensitization in HNT:

A. By introducing a complete antigen

B. By introducing blood serum from an actively sensitized animal

C. By transplanting lymph nodes from an actively sensitized animal

D. By introducing Lawrence transfer factor

D. By introducing immunocytes from an actively sensitized animal.

44. What mediates delayed-type allergic reactions:

A. T-lymphocytes

B. humoral antibodies

C. B-lymphocytes

D. O-lymphocytes

D. macrophages

45. Name the first stage of an immediate-type allergic reaction:

A. immunological stage

B. stage of pathophysiological disorders

C. stage of pathochemical changes

D. compensatory stage

D. tolerance

46. Select an example of a delayed-type allergic reaction:

A. Mantoux test

B. serum sickness

C. Quincke's edema

D. anaphylactic shock

D. urticaria

47. Which of the following is observed in anaphylactic shock:

A. expiratory dyspnea

B. hypocapnia

C. hyperventilation

D. periodic breathing

D. inspiratory shortness of breath

48. In the 2nd stage of an immediate-type allergic reaction, what is observed:

A. release of biologically active substances

B. dysfunction of various organs

C. increase in sensitized T-lymphocytes in the blood

D. increase in antibodies in the blood

D. increase in blood ESR

49. When does active sensitization occur after parenteral administration of a foreign protein:

A. after 2-3 weeks

B. after 48-72 hours

C. after 5 days

D. after 24-48 hours

D. after 2-3 minutes

50. Name the type of T-lymphocytes involved in the production of antibodies:

A. T-helpers

B. T-suppressors

C. T-killers

D. all cells

D. all answers are correct

51. At what stage of phagocytosis is the phagolysosome formed:

A. immersion

B. approach

C. adhesion

D. digestion

D. adhesion and. digestion

52. In the reactivity of which of the body's organs is a more passive barrier:

A. skin

B. liver

C. lungs

D. neuroglia

D. peritoneal macrophages

53. In specific reactivity, what is the function of a macrophage:

A. antigen presentation

B. phagocytosis

C. interferon production

D. bacteriostatic action

D. lysozyme synthesis

54. Select the characteristic changes in the leukocyte formula that can

serve as an additional sign of allergy:

A. eosinophilia lymphocytosis

B. leukopenia anemia

C. lymphopenia

D. leukocytosis

D. neutrophilia

55. Name the signs related to B-lymphocytes:

A. cells involved in the implementation of the humoral link of immunity

B. killer helper suppressor cells

C. microphages macrophages

D. cells that ensure the implementation

D. cellular link of immunity

56. Name the definition that more fully reflects the essence of inflammation:

A. a complex of damage phenomena and adaptive-compensatory reactions

B. protective-adaptive reaction

C. typical pathological process

D. cell transformation

D. the body's response to the action of damaging agents

57. Name the endogenous causative factor of inflammation:

A. products of impaired metabolism

B. fungi helminths

C. mechanical factor of damage

D. ionizing radiation

D. chemicals

58. What is the pathogenetic basis of inflammation:

A. exudation

B. hypertrophy

C. transudation

D. redness, swelling and increased body temperature

D. pain redness, swelling

59. What does alteration mean:

A. cell and tissue damage

B. cell hypertrophy

C. cell hyperplasia

D. cell regeneration

E. leukocyte accumulation

60. Select the inflammatory mediators of "cellular" origin:

A. histamine

B. Hageman factor

C. kallidin

D. bradykinin

D. complement system.

61. Name the inflammatory mediators of "gumoral" origin:

A. kinin-kallikrein system factors

B. histamine

C. lymphokines

D. prostaglandins

D. serotonin

62. What is characteristic of the initial stage of microcirculation disorder during inflammation:

A. reflex vascular spasm

B. arterial hyperemia

C. venous hyperemia

D. increased permeability of the vascular wall

E. stasis phenomena.

63. What is exudate:

A. liquid part of blood with its formed elements that has come out of the vessels

B. accumulation of fluid in the intercellular space

C. edematous fluid

D. hyperhydration

D. accumulation of products of extravascular hemolysis

64. The leading and primary pathogenetic factor of exudation is:

A. increased permeability of the vascular wall

B. decreased hydrostatic pressure of the blood

C. plasma hyperoncemia

D. plasma hyperosmia

D. hypoproteinemia with hypoalbuminemia

65. What effect do kinins have at the site of inflammation:

A. cause itching, pain

B. decrease the permeability of the vascular wall

C. cause vascular spasm

D. suppress pain

D. activate the Hageman factor

66. During inflammation, what factors cause the transition of arterial hyperemia to venous :

A. exit and accumulation of the liquid part and formed elements of the blood in the tissue

B. increased blood outflow

C. decrease in erythrocytes and leukocytes

D. spasm of arterioles

D. dilation of arterioles

67. What changes and factors increase the emigration of leukocytes:

A. physicochemical changes in the inflammation focus

B. decrease in the fibrin content in plasma

C. thickening of the vessel wall

D. hemolysis and aggregation of erythrocytes

D. increase in the oncotic pressure of the blood

68. The mechanism of anti-inflammatory action of glucocorticoids is due to:

A. increased membrane stability

B. increased histamine formation

C. increased serotonin formation

D. decreased prostaglandin formation

D. increased blood flow

69. The main location of leukocytes migrating into the oral cavity:

A. in the gingival pockets

B. on the mucous membrane

C. carious cavity

G. under the mucous membrane

D. in the papillae of the tongue

70. Types of leukocytes mainly emigrating into the oral cavity:

A. segmented neutrophils

B. monocytes

C. young neutrophils

G. lymphocytes

D. basophils

71. Name the salivary factor that regulates microcirculation of the oral mucosa:

A. kallikrein

B. peroxidase

C. amylase

G. RNAase

D. DNAase

72. What stimulates regeneration in the inflammation focus:

A. necrohormones (trephons)

B. etiologic factor

C. fatty acids

G. parathyroid hormone

D. thyroxine

73. Which sequence is natural in the inflammation focus:

A. spasm-art hyperemia-ven. hyperemia-stasis

B. art hyperemia-ven. hyperemia-spasm-stasis

V. spasm-ven. hyperemia-art hyperemia-stasis

D. spasm-art hyperemia-stasis-ven. hyperemia

D. art hyperemia-spasm-stasis

74. For the acute stage of the inflammatory process, what local physical change is characteristic:

A. increase in temperature

B. decrease in temperature

C. hypoionia

D. hypoonkia

D. hypoosmia

75. In the inflammation focus, the development of hyperosmia is caused by:

A. accumulation of underoxidized products

B. decrease in the concentration of hydrogen ions

C. increased metabolism

D. decrease in catabolic processes

D. decrease in the dissociation of salts

76. During inflammation, what is important in the mechanism of pain:

A. all of the above factors are important

B. irritation of nerve endings - biologically active substances

C. compression by inflammatory edema - exudate

D. irritation of nerve endings by acidic products

D. irritation of nerve endings by dilation of arterioles and the occurrence of capillary

pulse (throbbing pain)

77. Select the option that lists only inflammatory mediators:

A. histamine serotonin bradykinin prostaglandins

B. histamine renin thromboplastin serotonin

C. histidine thromboplastin serotonin bradykinin

D. heparin acetylcholine renin histidine

D. acetylcholine angiotensin bradykinin

78. The mechanism underlying the increase in vascular wall permeability during inflammation:

A. all of the listed mechanisms are correct

B. an increase in interendothelial gaps during vascular dilation

C. rounding of endothelial cells

D. exudation and micropinocytosis (swallowing tiny drops and conducting them "out"

by endothelial cells)

E. the effect of vasoactive biological substances on the vessel wall (inflammatory mediators) and

enzymes

79. Name the order of leukocyte emigration to the site of inflammation:

A. neutrophilic granulocytes then monocytes and finally lymphocytes

B. lymphocytes then neutrophilic granulocytes and finally monocytes

C. monocytes then lymphocytes and finally neutrophilic granulocytes

D. points A and B are correct

D. points C and D are correct

80. What local physical and chemical changes are characteristic of the acute stage of the inflammatory process:

A. acidosis

B. decrease in temperature

C. alkalosis

D. hypohydration

D. hypoionia

81. What is characteristic of proliferation:

A. reproduction and development of connective tissue cells

B. formation of a necrotic focus and dystrophic damage to cells

C. acidosis hyperosmia hyperonkia hyperH ionia

D. microcirculatory disorders and emigration of leukocytes granulation

D. unlimited autonomous infiltrative growth of cells

82. What is the essence of Cohnheim's experiment:

A. observation of phagocytosis in the inflammation focus

B. observation of alteration and proliferation phenomena

C. observation of leukocyte emigration through the vascular wall

D. observation of the development of the "sludge" phenomenon in the focus inflammation

D. observation of the vascular reaction in the inflammation site
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83. Name the difference between fever and exogenous hyperthermia:

A. not associated with the ambient temperature

B. occurs with stress

C. is a typical pathological process

D. occurs with hyperthyroidism

D. is observed at any age

84. Name the pyrogens produced by microorganisms:

A. exogenous

B. nucleic acids

C. endogenous

D. lipids

D. sugars

85. During fever, when the body temperature drops:

A. with the expansion of peripheral vessels

B. with the narrowing of peripheral vessels

C. with the occurrence of bradycardia

D. decrease in antibody production

D. increase in the release of pyrogen

111. During fever, what is chills associated with:

A. irritation of the cold receptors

B. tachycardia

C. irritation of thermal receptors

D. inhibition of phagocytosis

D. degranulation of mast cells

86. Name the cells that produce endogenous (secondary) pyrogen:

A. neutrophils

B. reticulocytes

C. labrocytes

D. lymphocytes

D. plasma cells

87. What is characteristic of stage III fever:

A. decrease in leukocyte pyrogens

B. decrease in heat transfer

C. spasm of peripheral vessels

D. bradycardia

D. hypertension

88. The factor leading to the development of hypothermia:

A. increased heat transfer and decreased heat production

B. decreased heat transfer

C. difficulty in heat transfer

D. significant decrease in heat production

D. significant increase in heat production

89. What changes in functions are characteristic of fever? stages of "standing" temperature:

A. tachycardia

B. radicardia

C. inhibition of phagocytosis

D. activation of digestion

D. increased secretory function of the digestive system

90. Basal metabolism decreases with:

A. myxedema

B. fever

C. thyrotoxicosis

D. heart failure

D. pneumonia

91. Residual nitrogen in the blood is:

A. nitrogen-containing substances in the blood remaining in the filtrate after protein precipitation

B. the amount of nitrogen-containing substances remaining after blood combustion

C. nitrogen-containing substances remaining in the blood filtrate after removal of lipids and carbohydrates from the blood

D. gaseous nitrogen formed in the blood during decompression sickness

D. blood nitrogen, which is absorbed from primary urine

92. An increase in ammonia and a decrease in the content of urea in the blood indicate the pathology of which organ

evidence:

A. liver

B. kidneys

C. spleen

D. pancreas

D. stomach

93. Characteristic of the action of glucocorticoid hormones:

A. stimulation of gluconeogenesis

B. inhibition of gluconeogenesis

C. hypoglycemia

D. hypokalemia

D. hyperlipemia

94. Gas acidosis occurs in:

A. lung diseases

B. diabetes mellitus

C. acid poisoning

D. renal failure

D. liver failure

95. The exogenous transport form of lipids is:

A. chylomicrons

B. alpha-lipoproteins

C. beta-lipoproteins

D. ketone bodies

D. phospholipids

96. The excretion of protein in the urine is comparatively greater in which edema:

A. nephrotic

B. cardiac

C. nephritic

D. hepatic

D. allergic

E 5% glucose solution

97. When can glucosuria be observed without hyperglycemia:

A. in renal diabetes

B. in diabetes mellitus

C. with excessive production of adrenaline

D. with excessive sugar consumption

D. with stress

98. In diabetes mellitus, polyuria is caused by:

A. increased osmotic pressure of urine

B. decreased osmotic pressure of urine

C. increased hydrostatic pressure

D. increased oncotic pressure of urine

D. increased permeability of the vascular wall

99. Polydipsia in diabetes mellitus is based on:

A. increased osmotic pressure of the blood

B. increased oncotic pressure of the blood

C. decreased osmotic pressure of the blood

D. increased hydrostatic pressure

D. increased blood pressure

100. For atherosclerosis, an increase in which lipids in the blood serum is characteristic:

A. beta-lipoproteins

B. alpha-lipoproteins

C. unsaturated fatty acids

D. saturated acids

E. phospholipids

101. With atherosclerosis, the ratio of which substances in the blood changes:

A. cholesterol and phospholipids

B. albumins and globulins

C. ketone and acetone bodies

D. lactic and uric acid

E. ammonia and urea

102. Which of the following diseases leads to the development of a positive water balance:

A. heart failure

B. diabetes mellitus

C. colitis

D. thyrotoxicosis

D. astritis

103. Indicate the cause leading to the prevalence of the oncotic factor of edema:

A. liver cirrhosis

B. acidosis

C. diabetes mellitus

D. pneumonia

D. hyperproteinemia

104. In which edemas does the leading role belong to the hydrodynamic factor:

A. cardiac

B. toxic

C. allergic

D. myxedema

D. renal

105. Indicate the factor that has a leading role in the development of nephrotic edema:

A. albuminuria

B. increased hydrodynamic pressure

C. decreased production of ADH

D. aldosteronism

D. hyperproteinemia

106. Which of the following causes lead to the development of non-gaseous alkalosis:

A. introduction of excess alkaline products into the body

B. impaired excretion of acidic metabolites from the body

C. diarrhea

D. hypoventilation

D. excessive sweating

107. Which of the following blood parameters characterize a violation of the final stages of non-protein nitrogen:

A. increase in the amount of residual nitrogen

B. increase in the amount of globulins

C. decrease in the amount of albumins

D. appearance of C-reactive protein

D. appearance of cryoglobulin

108. How does metabolism change with hyperthyroidism:

A. basal metabolism increases

B. ATP synthesis increases

C. decreased glycogenolysis

D. obstruction of the urinary tract

D. the flow of fats into the fat depot increases

109. In the gastrointestinal tract, the final products carbohydrate breakdown:

A. glucose fructose galactose

B. carbon dioxide and water

C. glucose maltose sucrose

D. amino acids

D. poly- and disaccharides

110. In atherosclerosis, the following are deposited under the intima of blood vessels:

A. LDL and VLDL

B. HDL

C. phospholipids

D. free fatty acids

D. glucosominoglycans

111. The hormone necessary for providing tissues with glucose and increasing the permeability

of the cell membrane:

A. insulin

B. glucagon

C. thyroxine

D. adrenaline

D. ACTH

112. In diabetes mellitus, what characterizes the violation of protein metabolism:

A. decreased formation of antibodies and regenerative processes

B. increased protein synthesis in the liver

C. increased ATP synthesis

D. increased resistance of the body to various infections

D. positive nitrogen balance

113. At what blood sugar level can we talk about glucosuria caused by hyperglycemia:

A. more than 8.5 mmol/l

B. more than 5.5 mmol/l

C. 1.60 mmol/l

D. 7.0 mmol/l

D. 4.0 mmol/l

114. What products does carbohydrate metabolism disorder accumulation characterize:

A. lactic and pyruvic acid

B. ketone bodies

C. beta-hydroxybutyric acid and acetoacetic acid

D. maltosolactose sucrose dipeptides amino acids

D. dipeptides amino acids

115. Specify the correct combination of causes of hypoglycemia:

A. hyperinsulinism, liver extirpation

B. insulin overdoseadministration adrenalinthyrotoxicosis

B. decrease in counter-insular hormonesovereating and obesityrenal

diabetesmarathon running (heavy physical exertion)

D. liver extirpationadministration of adrenalinsulin overdose

D. carbohydrate starvationpancreatitismyxedema

116. The pathogenetic mechanism of hypoglycemic syndrome is associated with:

A. carbohydrate deficiency in the tissues of the central nervous system

B. glucose deficiency in the liver

B. excitation of the ventromedial nuclei of the hypothalamus

D. synthesis of a large number of ketone bodies in the body + with impaired glucose reabsorption

D. glasses and the resulting polyuria

117. Specify the substances that accumulate in case of impaired lipid metabolism:

A. beta-hydroxybutyric and acetoacetic acidscetone

B. beta-hydroxybutyric and lactic acidsacetone

B. acetoacetic and pyruvic acidsacetone

D. acetoneacetoacetic and lactic acids

D. pyruvic and lactic acids

118. A persistent increase in the level of catecholamines in the blood is more often characteristic of:

A. pheochromocytoma

B. Itsenko-Cushing syndrome

C. diabetes insipidus

D. Simonds disease

D. diabetes mellitus

119. What inhibits cell mitosis:

A. chalones

B. trephons

C. serotonin

D. prostaglandins

D. thromboxanes

120. Specify the factors related to biological carcinogens:

A. excess of some steroid hormones

B. polycyclic aromatic hydrocarbons

C. bacteria

D. enteroviruses

D. 24-benzopyrene

121. What is meant by cocarcinogenicity:

A. increased action of one carcinogen under the influence of a non-carcinogenic factor

B. increased action of one carcinogenic factor under the influence of another carcinogen

C. inhibition of carcinogen action

D. relatively pronounced action of one carcinogen

D. complex simultaneous action of several carcinogens

122. In tumor cells, what are the characteristics of carbohydrate metabolism disorders:

A. increased anaerobic glycolysis

B. increased aerobic glycolysis

C. slowing down glucose absorption

D. increased formation of CO2 and H2O

D. increased glucose content

123. Which bioactive substances formed in the body are closer to natural carcinogens in chemical structure:

A. steroid hormones

B. adrenaline

C. cyclic AMP

D. globulins

D. vitamin "C"

124. Specify the possible mechanisms of transformation of a normal cell into a tumor cell:

A. change in the structure of genes regulating cell division and maturation

B. change in the activity of gene regulators

C. causing chromosome deletion

D. chromosome reduplication

D. increased mitotic activity of cells

125. What are the main mechanisms of infiltrative tumor growth:

A. decrease in the activity of contact inhibition

B. the ability of tumor cells to amoeboid movement

C. decrease in the adhesiveness of tumor cells

D. increase in the activity of contact inhibition

D. meiosis

126. Specify the physical factors causing carcinogenesis:

A. X-rays

B. Koch's bacillus

C. aniline dyes

D. Bitner's milk factor

D. DNA and RNA containing viruses

127. Specify the processes characterized by unrestrained growth of immature cellular elements:

A. neoplasia

B. regeneration

C. hyperplasia

D. hypertrophy

D. atrophy

128. Specify biological substances that have carcinogenic properties:

A. aflatoxin

B. benzopyrene

C. dibenzanthracene

D. dimethylaminoazobenzene

D. x-rays

129. Specify the pathogenesis of tumor growth - stages of oncogenesis:

A. transformation, promotion, progression

B. transformationprogressiontransplantation

C. transformationpromotionexplantation

D. transformationprogressionexpression

D. transformationmutationinduction

130. What is meant by complete carcinogens:

A. carcinogens causing progression and transformationpromotion

B. carcinogens causing initiation and progression

C. carcinogens causing transformation

D. carcinogens causing explantation and transplantation

D. carcinogens causing initiation and promotion
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131. Specify the cell revealed by vital staining:

A. reticulocytes

B. megaloblasts

C. megalocytes

D. erythrocytes with Jolly bodies

D. polychromatophils

132. What type of anemia is this hemogram typical for: Erythrocytes 34x10^12 l. Hemoglobin-104 g/l.

CP-092 reticulocytes-3% leukocytes-12x10 g/l normochromia-normocytosis:

A. acute posthemorrhagic

B. iron deficiency

C. chronic posthemorrhagic

D. pernicious

D. hypoplastic

133. What pathology is accompanied by hypervolemia:

A. heart failure

B. renal failure

C. acute gastritis

D. diabetes diabetes

D. vascular insufficiency

134. For what pathology are these shifts characteristic: leukocytes - 18x10^9 neutrophilia with

regenerative shift of the nucleus to the left.

A. acute appendicitis

B. typhoid fever

C. chronic appendicitis

D. diffuse toxic goiter

D. chronic radiation sickness

135. Characterize the following leukogram:

Leukocytes-7x10 9g/lneutr.: metamyelocytes-1% pal-4% seg-63% eosin-3% base-1% lymph. -24% mon-4%.

A. normal

B. leukocytosis

C. leukopenia

D. neutrophilia

D. lymphocytosis

136. Which process can be the cause of leukocytosis:

A. tissue necrosis

B. increased blood pressure

C. vitamin B-12 deficiency

D. decreased blood pressure

D. hyperglycemia

137. Which of the following indicators is characteristic of chronic myeloid leukemia:

A. eosinophilic-basophilic association

B. lymphocytosis

C. monocytosis

D. neutropenia

D. right nuclear shift

138. What disease is this hemogram typical for:

Leukocytes - 3800 in 1 mm of blood neutrophilia with a sharp shift of the nucleus to the left myeloblasts (leukocyte gap)

A. acute myeloid leukemia

B. lobar pneumonia

C. heart failure

D. chronic myeloid leukemia

D. lymphocytic leukemia

139. What disease is this hemogram typical for:

Leukocytes - 167000 in 1 mm of blood sharp lymphocytosis. In the smear there are a large number of Botkin-Klein-Gumprecht bodies.

A. chronic lymphocytic leukemia

B. chronic myeloid leukemia

C. radiation sickness

D. myeloid leukemia

D. acute lymphocytic leukemia

140. Which pathology is accompanied by leukopenia:

A. viral hepatitis

B. whooping cough

C. typhus

D. scarlet fever

D. diabetes mellitus

141. Which shift coincides with the period of the beginning of recovery from an acute infection:

A. lymphocytosis

B. neutrophilia

C. basophilia

D. monocytosis

D. aneosinophilia

142. Which changes indicate pathological regeneration:

A. megaloblasts

B. reticulocytosis

C. polychromatophilia

D. erythroblasts

D. normocytes

143. For which process is vitamin B-12 necessary:

A. synthesis of nucleic acids

B. synthesis replaceable amino acids

B. normal glucose metabolism

D. normal fatty acid metabolism

E. glycogen synthesis in the liver

144. Which of the following leukemias is acute:

A. myeloblastosis

B. myeloleukemia

C. lymphocytic leukemia

D. erythromyelosis

D. myelosis

145. In which organ does extramedullary hematopoiesis develop earlier than in others in leukemia:

A. in the liver

B. in the kidneys

C. in the spleen

D. in the lymph nodes

D. in the lungs

146. Which disease can be accompanied by increased erythropoiesis:

A. heart failure

B. diabetes mellitus

C. hepatitis

D. gastritis

D. renal failure

147. What is the cause of functional disorders in the body with anemia:

A. hypoxia

B. hypovolemia

B. acidosis

D. cyanosis

D. dystrophy

148. What are the causes of hereditary hemolytic anemia:

A. mutations leading to the appearance of abnormal types of hemoglobin

B. malarial plasmodium

B. hemolytic streptococcus

D. transfusion of blood of a different group

D. Rhesus incompatibility the appearance of abnormal erythrocytes

149. Which of the listed signs is characteristic of a hemolytic crisis:

A. pronounced reticulocytosis

B. anisocytosis

B. poikilocytosis

D. hypochromia

D. hyperchromia

150. Which of the listed signs is characteristic of hemoglobinopathy S:

A. hypochromia against the background of a large number of sickle-shaped erythrocytes

B. hypochromia with macrocytosis

C. hypochromia with normocytosis

D. hypochromia with microspherocytosis

D. hypochromia with target cells

151. Which of the following signs is characteristic of congenital spherocytic hemolytic anemia of Minkowski-Shaffar:

A. microspherocytosis

B. normocytosis

C. megalocytosis

D. macrocytosis

D. drepanocytosis

152. What is the cause of hyperchromia in B-12 deficiency anemia:

A. the appearance of megalocytes in the peripheral blood

B. an increase in the number of erythrocytes

C. an increase in the number of oxyphilic normoblasts

D. neutrophilia

D. reticulocyto

153. Which of the following causes suppression of leukopoiesis:

A. all of the listed reasons

B. chronic tetraethyl lead poisoning

C. irradiation X-rays

D. metastasis of tumor cells to the bone marrow

D. malaria

154. What type of leukemia is characterized by the presence of the pH chromosome:

A. chronic myeloleukemia

B. monocytic leukemia

C. acute lymphocytic leukemia

D. chronic lymphocytic leukemia

D. erythrocytosis

155. What type of anemia is characterized by Jolly and Cabot bodies in erythrocytes

A. vitamin B-12 deficiency

B. sickle cell anemia

C. hypoplastic

D. Fe deficiency

D. hemolytic

156. What disease is characterized by lymphocytosis:

A. chronic infectious diseases (tuberculosis)

B. myocardial infarction angina pectoris

C. streptococcal and staphylococcal infection

D. typhus

D. chickenpox and measles

157. What is the osmotic resistance of red blood cells in hemolytic anemia:

A. decreased in some cases

B. only decreased

C. only increased

D. increased in some cases

D. within normal limits

158. Select the symptoms of decompensation in acute blood loss:

A. respiratory and cardiac failure

B. tachycardia hypertension

C. increased hematopoiesis and blood clotting

D. blood leaving the depot fluid transfer from tissue to blood

E. spasm of peripheral vessels blood stagnation

159. What pathology is characterized by basophilic leukocytosis:

A. chronic myelosis

B. appendicitis

C. tuberculosis

D. leishmaniasis

D. bronchial asthma

160. Determine the triad of symptoms in vitamin B-12 (folic) deficiency anemia:

A. hyperchromic anemia smoothing of the papillae of the tongue funicular myelosis

B. microcytic anemia hemolysis of erythrocytes reticulocytosis

C. hypochromic erythrocytes enlarged spleen meningitis

D. hemolysis of erythrocytes enlarged liver hypertension

D. erythrocytes as a target gastritis neurosis

161. What compensatory mechanisms characterize the reflex phase of compensation for acute blood loss:

A. tachycardia, dyspnea, spasm of peripheral vessels

B. tachycardia, dyspnea, flow of tissue fluid into the bloodstream

C. blood leaving the depot, flow of tissue fluid into the vessel, dyspnea

D. all options are characteristic of this phase

D. none of the options correspond

162. Determine the correct combination of diseases in which eosinophilia occurs:

A. bronchial asthma, echinococcosis, hay fever

B. malaria, tuberculosis, ascariasis

C. bronchial asthma, pneumonia, peritonitis

D. ascariasis, syphilis, smallpox

D. smallpox, infectious mononucleosis, measles

163. Which blood cell can return to the blood from the site of inflammation:

A. monocyte

B. erythrocyte

C. lymphocyte

D. basophil

D. eosinophil

164. In anemias, what is the leading mechanism in the dysfunction of the body:

A. hemic hypoxia

B. polycythemic hypovolemia

C. circulatory hypoxia

D. oligocythemic hypervolemia

D. bradycardia

165. Which compensation mechanism is more favorable in tonogenic dilation of the heart:

A. heterometric

B. homeometric

C. isometric

D. contractility

D. excitability

166. The leading pathogenetic factor of edema in heart failure is:

A. increased hydrostatic pressure in the veins

B. increased permeability of the vessel wall

C. decreased oncotic pressure of the blood

D. increased oncotic pressure of tissues

D. increased hydrophilicity of tissues

167. Specify what is characteristic of tonogenic dilation:

A. increased stroke volume

B. decreased stroke volume

C. decreased arterial pressure

D. increased venous pressure

D. tachycardia

168. An increase in pulse pressure is characteristic of:

A. aortic valve insufficiency

B. mitral valve insufficiency

C. mitral stenosis

D. tricuspid valve insufficiency

D. arterial hypotension

169. A decrease in pulse pressure is characteristic of:

A. aortic orifice stenosis

B. bicuspid valve insufficiency

C. tricuspid valve insufficiency

D. aortic insufficiency valves

D. mitral stenosis

170. What can a negative "P" wave on an ECG indicate:

A. the occurrence of impulses in the atrioventricular node

B. respiratory arrhythmia

C. tachycardia

D. bradycardia

D. transverse block

171. According to WHO standards, up to what limits is blood pressure normal:

A. 140/90 mm Hg

B. 120/80 mm Hg

C. 110/70 mm Hg

D. 120/90 mm Hg

D. 120/60 mm Hg

172. Determine the extracardiac compensatory factors:

A. peripheral vascular spasm erythrocytosis

B. myogenic dilation

C. tonogenic dilation

D. cyanosis

D. slowing of blood flow velocity.

173. What reflects the violation of the contractile function of the heart:

A. decrease in the minute volume of blood

B. tachycardia

C. hypoventilation

D. increase in arterial pressure

D. increase in pulse pressure

174. What contributes to a decrease in myocardial contractility:

A. deficiency of Ca2+ ions

B. decrease in Na+ ions

C. serotonin deficiency

D. ketonemia

D. hyperglycemia

175. Indicate the cause of the development of heart failure due to "outflow resistance overload":

A. arterial hypertension

B. anemia

C. aortic valve insufficiency

D. mitral valve insufficiency

D. arterial hypotension

176. Heart failure due to "volume overload" occurs with:

A. mitral valve insufficiency

B. aortaloma stenosis

B. stenosis of the mitral orifice

D. stenosis-coarctation of the aorta

E. arterial hypertension

177. Which factor causes deterioration of myocyte nutrition in hypertrophy:

A. relative insufficiency of the capillary network

B. decrease in the specific surface area of ​​myocytes

C. thickening of the sarcolemma

D. appearance of arteriovenous shunts

E. development of capillaries

178. What worsens the energy supply of muscle contraction in pathological hypertrophy:

A. relative insufficiency of mitochondria

B. activation of the Krebs cycle

C. hypoglycemia

D. relative predominance of anaerobic glycolysis

E. use of FFA

179. Which arrhythmias are nomotopic:

A. sinus tachycardia

B. complete atrioventricular block

B. ventricular extrasystole

D. atrial extrasystole

180. Simultaneous excitation of the atria and ventricles is observed in:

A. atrioventricular extrasystole

B. incomplete sino-auricular block

B. ventricular extrasystole

D. complete sino-auricular block

D. sinus tachycardia

181. Specify the main factor determining the level of arterial pressure:

A. peripheral vascular resistance

B. slowing down of blood flow

C. increase in blood flow velocity

D. amount of deposited blood

D. decrease in blood viscosity

182. Determine the hormone that contributes to the development of hypertension:

A. antidiuretic hormone

B. insulin

B. glucagon

D. parathyroid hormone

D. melanotropic hormone

183. What changes characteristic of chronic heart failure:

A. decrease in stroke and minute volumes of blood

B. increase in arterial pressure

C. decrease in venous pressure

D. increase in minute volume of blood

D. acceleration of blood flow velocity

185. With predominant dysfunction of which vessels does arterial hypertension develop:

A. resistance vessels

B. compensatory vessels

C. capacitance vessels

D. exchange vessels

D. all vessels equally

186. Which blockades differ in localization:

A. sinoatrial, atrioventricular, bundle branch block

B. ventricular, atrial, atrioventricular

C. sinus, intraventricular, intraventricular

D. complete, incomplete, partial

D. sinus, atrial, ventricular

187. The factor that determines the myogenic component of arterial hypertension:

A. accumulation of Na in the vascular wall

B. excitation of alpha-adrenergic receptors of resistive vessels

C. excitation of beta-adrenergic receptors of resistive vessels

D. decreased activity of the adrenal cortex

D. disruption of the vasomotor center

188. Determine the role of Ca in myocardial contraction:

A. addition of Ca to the active actin center and in the formation of the actomyosin complex

B. in the breakdown of ATP-replacement of Mg ions with Ca ions

C. in the breakdown of ATP-replacement of K ions with Ca ions

D. in the breakdown of intracellular ATP by calcium ATPase

E. Expulsion of sodium from the cell

189. Select the sequence of stages of myocardial hypertrophy:

A. emergency, completed hypertrophy and cardiosclerosis

B. tonogenic and myogenic dilation

C. compensatory and decompensatory stages

D. emergency and tonogenic dilation

E. completed hypertrophy and myogenic dilation

190. What is the basis of the mechanism of development of bradycardia:

A. increased function of the parasympathetic part of the autonomic nervous system

B. the occurrence of an ectopic focus in the myocardium excitation

B. increased function of the sympathetic part of the vegetative nervous system

D. dystrophic changes in myocardial fibers

D. administration of anticholinergics

191. Sinus bradycardia develops in what pathological conditions and diseases:

A. liver diseases

B. kidney disease

B. thyrotoxicosis

D. pheochromocytoma

D. hypoxia

192. When does atrial fibrillation occur:

A. increased excitability and decreased conductivity

B. increased excitability

C. increased conductivity

D. increased automatism

D. with tonogenic dilation

193. Select the manifestations characterizing the erectile phase of shock:

A. motor and speech excitation

B. weakening of the effects of the sympathoadrenal and pituitary-adrenal systems

B. tachycardia arterial hypotension

D. blood deposition

D. decrease in venous return to the heart.

194. What pathology is accompanied by inspiratory dyspnea:

A. diphtheria

B. pneumonia

C. heart failure

D. altitude sickness

D. bronchial asthma.

195. Type of hypoxia associated with a decrease in the oxygen capacity of the blood

A. hemic

B. respiratory

C. cardiovascular

D. tissue

D. normobaric

196. When does tissue type of hypoxia develop:

A. with uncoupling of oxidation and phosphorylation processes

B. with a decrease in the hemoglobin content in the blood

C. with heart failure

D. with a slowdown in the blood flow

D. with a violation of blood clotting

197. Asphyxia is characterized by:

A. a combination of hypoxia and a violation of the elimination of CO2 from the body

B. hypoxia

C. hypercapnia

D. increased ventilation of the alveoli

D. increased perfusion of the lungs.

198. In what pathologies does pulmonary ventilation worsen:

A. in all of the above conditions

B. pulmonary emphysema

C. pneumothorax

D. difficulty moving the chest and diaphragm

D. pulmonary edema

199. Which of the following pathologies are a consequence of hyperventilation:

A. gas alkalosis

B. increased pCO2 in arterial blood

C. decreased pO2 in arterial blood

D. gas acidosis

D. metabolic acidosis

200. What factor can lead to the development of blood type hypoxia:

A. carbon monoxide poisoning

B. poisoning with hydrocyanic acid compounds

C. vitamin deficiency

D. hypovitaminosis

D. heart failure
